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I Multiple Choice (choose the one best answer, 20 questions @ 3% each)
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2. Solon Corporation has adopted the policy of charging to expense at the time of purchase all assets
having a cost of less than $100, regardless of the life expectancy of the asset. This policy is most
closely related to the

(1) materiality principle (2) historical cost principle

(3) period of time assumption (4) verifiability principle
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5. Callable bonds

(1) can be redeemed by the issuer at some time at a pre-specified price.
(2) can be converted to stock.

(3) mature in a series of payments.

(4) None of the above.
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6. A corporation has 30,000 shares of common stock outstanding during the yéar. In addition, there
were compensatory stock options to purchase 5,000 shares of common stock at $23 a share
outstanding the entire year. The average market price for the common stock during the year was
$36 a share. The unrecognized compensation cost (net of tax) relating to these options was $4 a
share. The denominator for the diluted earnings per share was

(1) 35,000 (2)31,250 (3) 30,833 (4) 33,750
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9. Which of the following statements regarding goodwill is nof true?

(1) Goodwill is never amortized for financial reporting purposes

(2) A company must review its goodwill for impairment annually

(3) A company must review its goodwill for impairment whenever events or changes
in circumstances occur that would more-likely-than-not reduce the fair value
below its carrying value :

(4) A company records goodwill at the time that it acquires another company or at
the time it determines that material intellectual capital exists in its employees

10. All of the following are requirements for disclosures related to financial instruments excep!

(1) disclosing the fair value and related carrying value of the mstruments.

(2) distinguishing between financial instruments held or issued for purposes other than trading.

(3) combining or netting the fair value of separate financial instruments.

(4) displaying as a separate classification of other comprehensive income the net gain/loss on
derivative instruments designated in cash flow hedges.
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11. The Zemlick Paper Company reports the following for both pretax financial and taxable

income:

Year Income (Loss) Enacted Tax Rates

2004 $ 40,000 30%
2005 60,000 30%
2006 70,000 35%
2007 (200,000) 35%

Zemlick uses the carryback provision for net operating losses when possible. Congress has enacted
a tax rate for 2008 and future years of 35%. The entry on December 31, 2007, to record income tax -
expense would include a

(1) debit to Income Tax Refund Receivable for $54,500

(2) debit to Income Tax Refund Receivable for $42,500

(3) credit to Income Tax Benefit from Operating Loss Carryback for $65,000

{4) credit to Income Tax Expense for $54,500

12. Jackson Company began the current year with the following:

Accounts receivable $ 10,000
Allowance for doubtful accounts (800)
Net account receivable 9,200

During the current year, the following events occurred:

Accounts written off $ 1,200
Sales on account 30,000 -
Bad debt expense recognized 2,000

At the end of the current year, the company showed a balance in gross accounts receivable (before
the allowance for doubtful accounts) of $16,800.

What amount would be shown as an operating cash inflow in the statement of cash flows under the
indirect method?

(1)$21,000 (2) $22,000 (3)$30,000 (4).none of the above

13. According to FASB Statement No. 43, which of the following is not a condition suggesting that
an accrual for vacation pay be made?

(1) ‘the obligation must relate to rights that vest

(2) the payment of compensation is probable

(3) the obligation must relate to employee services aiready rendered

(4) the amount can be reasonably estimated
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# Use the following information for questions 18 to 20.

— Yates Co. purchased a put option on Dixon common shares on July 7, 2007, for $215. The put
option is for 300 shares, and the strike price is $51. The option expires on July 31, 2007. The
following data are available with respect to the put option:

Date Market Price of Dixon Shares Time Value of Put Option
March 31, 2007 $48 per share $120
June 30, 2007 $50 per share 54
July 6, 2007 $46 per share 16

18. Investment in put option on Dixon shares on March 31, 2007 should be
| ' (1) $215. (2)$1,210. (3) $1,115. (4) $1,020.

19. What should Yates report on its 2007 income statement (from March 31 to June 30) as a result
L of the increase/decrease in fair value of the ihvestments?
{1) Unrealized loss of $666.

(2) Unrealized gain of $666.

— (3) Unrealized loss of $600.

(4) Realized gain of $600.

20. If Yates settles the call option on the Dixon shares, what amount should report a gain or loss for
the settlement?

(1) gainof $1,184 (2) loss of $1,184 (3) gainof $16 (4) loss of $16
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On January 1, 2006, Broadboard company granted a performance-based stock option plan to 40
executives to buy a maximum of 3,000 shares each of its $10 par common stock at $30 a share. The
fair value per option is $8. The terms of the plan, which has a three-year service and vesting period,
are based on the following scale:

Sales Increase At Least No. of Shares
10% | 1,000
15% 2,000
20% 3,000

The expected annual employee turnover rate is 4% per year. On the grant date Broadboard company
estimates that an increase in sales during the service period of 18%. However, at the end of 2008,
Broadboard company determines that its sales increase has increased over the three-year period by
more than 20%. Broadboard uses the Fair Value Method to account for this plan.

 Required

(1) Compute the estimated fotal compensation cost on the grant date. (5%}

(2) Compute the compensation expense for 2007. (5%)

(3) Prepare the journal entries to record the compensation for 2008. (5%)

(4) Prepare the January 1, 2009 entry when 10 executives exercise their options. (5%)

Il Question LA ERESE I THIX&AXDE )

The accounting for investments in marketable securities has changed significantly over the years.
For approximately twenty years, companies were required to report marketable equity securities at
the lower of cost or market. Then in 1993, the FASB issued Statement No. 115, which requires
companies to use fair values for trading and availabie-for-sale securities but held-to-maturity
securities are reported at their amortized cost.

Required

(1) Discuss the criticisms of the lower of cost or market method. {5%)

(2) Under FASB Statement No. 115, explain why there is a difference in the reporting requirements
for these three classifications of marketable securities. {5%)

(3) Please refer to the following situation and indicate how should be reported in the financial
statement (including both balance sheet and income statement) if all securities are still on hand.
(10%)

Situation
The portfolio of trading securities has a fair value in excess of cost of $21,000. The
available-for-sale portfolio has a cost is in excess of fair value of $28,600.
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